J1 J2

xcanch_pinheader_2x40 xconch_pinsocket_2x40
BAT+ Wy o BAT 2 _BAT+ BAT+ 1 AT+ BAT -2 BAT+
VCC_5V 3 Lyee sy Vee_ 54 VEC 5V VCC_5V 3 Lyee sy Vee_ 54 VEC 5V
VEC3V3 5 Lyce 3y3 vee 3y3-—6 VCC 3V3 VEC3V3 5 Lyce 3y3 vee 3y3-—6 VCC 3V3
VCC V8 7 Lycc qvs vee 1vg-—8 VCC 1ve VCC V8 7 Lycc qvs vee 1vg-—8 VCC 1ve GND
vCC_I0 9 Lyec 1o vee |g=10veCio VCC_I0 9 Lyec 1o vee |g=10veCio
GND 11 cnp GNO=-12 GND GND 11 cnp GNO=-12 GND
UART.TX__ 131 jaRT TX UART_Rx—214 UART_RX UARTRX__ 131 jART RX UART T4 UART_TX GND
12C.SDA__ 1515 gpp 12¢_sclf-1612C_SCL 12C.SCL 150 5¢ ¢ 12¢_SpA—16 12C_SDA
SPLMOSI_17L¢p| Mog) Spl_CLK—18 SPLCLK SPLCLK 171 cp| ¢k SPI_MOS |18 SPI_MOSI
SPLMISO 190 cp| i spl_cg—20 SPLCS SPI_CS 198 6p) ¢S SPI_MIS(=-29 SPI_MISQ
SDIODO_ 211 4pi0 po SDI0_p1}=22-SDI0_D1 SDIODL 211 cpio p1 SDI0_D(=22-SDI0_DO
SDIOD2 231 cpio p2 SDI0_p34—24SDIO_D3 SDIOD3 231 cpio p3 SDI0_p4—24SDIO_D2
SDIO_CMD 251 ¢pio cmp 5DI0_CLK=26 SDIO_CLK SDIO_CLK 251 ¢pio cik SDI0_CM}=—26-SDIO_CMD
125_DI 278455 pi 125_LRCLKH—28 125 LRCLK 125 LRCLK 271 55 |ReLK 125D |28 12501
125_D0 298,55 po 125_CL=30125_CLK 125 CLK 291 55 ¢k 125 p(-30125.D0
CAH_H SLLCAN H CAN_[}=32 CAN_L CAN_L SLLCAN L CAN_H=32 CAH_H
USB.D+ 331,55 p+ USB_D =34 USB.D— USB.D=_ 331,55 p— USB_D4}=34 USB_D+ VCC BV 1 J3 Jh 20 VCC 5V
PWMO 351 bwMo PWM =36 PWM1 PWM1 351 pywM1 PWM(=-236_PWMO vee v 2 | = 19 VCC V3
ADCO 371 Apco ADC 1|38 ADC1 ADC1 371 anct ADC(=-38 ADCO m: = 18 VCC 1V8
DACQO 391 haco DAC1=-40 DAC1 DAC1 391 nact DAC (=0 DACO ﬁ: = 17 GND
GPIOO 411 cpioo GPIo-42 GPIO1 GPIO1 411 cpiot GPlIod=-42GPIO0 UARTTX 51 = 16 PWMO
GPI02 431 cpia2 GPI03--44 GPIO3 GPIO3 431 cpio3 GPI0J=-4 GPI02 m: = 15 pwMi
GPI04 451 cpioy GpPlo9--46 GPIOS GPIO5 451 cpios GPlIoY=-46 GPIO4 12C_SDA B = 14 ADCO
GPIO6 471 cpio6 GPI0A=-4B GPIO7 GPIO7 471 cpia7 GPl0d--4B GPIO6 12C_SCL s [ = 13 ADCL
GPIO8 491 cpios GPl0d=50 GPIO9 GPIO9 491 cpiag GPl0g=50 GPIO8 spLMoSI 9| = 12 DACO
NCO 511 nco NC=52 NC1 NC1 511 neq NC(=52 NCO m: = 11 DACL
NC2 531 Neo NC1-54 NC3 NC3 531 Ne3 NCA=54 NC2 m: = 10__GPIOO
NC4 55) ney NCg-56 NC5 NC5 55 nes NCY-56 NC& SPICS 12 ~ To GPIOL
NC6 571 Nee NC =28 NC7 NC7 571 Ne7 NCH-58 NC6 SDIO.DO 13 ~ Ts GPI02
NC8 591 Ncg NCd-60 NC9 NC9 591 Neg NCg=60 NC8 SDIO D1 14 ~ 15 GPIO3
NC10 611 Nc10 NC1=62 NC11 NC11 611 Nc11 NC1d=52 NC10 SDI0.D2 15 ~ Ts GPIOL
NC12 631 Nc12 NC14-64 NC13 NC13 631 Nc13 NC14-54 NC12 SDIO.D3 16 ~ Ts GPIO5
NC14 65] Nc1y NC19-66 NC15 NC15 65! Nc15 NC14-66 NC14 SDIO._CMD 17: T4 GPI06
NC16 671 Nc16 NC17=0B8 NC17 NC17 671 Nc17 NC1d-68 NC16 SDIO_CLK 18 ~ T3 GPI07
NC18 691 Nc1s NC1d—Z0 NC19 NC19 691 Nc19 NC1g=Z0 NC18 CAHH 19 ~ T3 GPI08
NC20 711 Ne2o NC21=Z2 NC21 NC21 71 Neot NC2(=Z2 NC20 CAN_L ol = 1 GPI09
NC22 731 Ncoo NC2A-Z4 NC23 NC23 731 Neo3 NC2A=Z4 NC22 - L=
NC24 750 Ncos NC2d 76 NC25 NC25 750 Ncos N2 76 NC24 Conn_01x20 Conn_01x20
NC26 771 Ne26 NC27A=ZB8 NC27 NC27 771 Nc27 NC2d-ZB NC26
NC28 791 Ncos NC2d-80 NC29 NC29 791 Nc29 NC2g=B80 NC28
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